M-A2-5-2_IP Jokes WKS


“What did the zero say to the eight?”
Directions: Solve each problem below and choose the letter that corresponds to the solution to each problem.  Place the letter on the correct line in the answer to the riddle.

1.  
[image: image1.wmf]n

n

n

n

5

1

5

1

1

-

-

=


2.  
[image: image2.wmf]1

4

6

+

+

=

-

x

x

x

x


3.  
[image: image3.wmf]2

6

2

4

3

1

-

+

-

+

=

+

r

r

r

r


4.  
[image: image4.wmf]x

x

x

x

x

3

3

3

1

3

1

2

2

-

=

-

+

-


5.  
[image: image5.wmf]8

6

2

4

1

2

2

+

-

=

-

+

-

x

x

x

x

x


6.  
[image: image6.wmf]10

3

14

5

7

2

2

-

-

=

-

+

+

y

y

y

y

y


7.  
[image: image7.wmf]3

1

3

1

=

+

+

+

a

a

a

a


_____     _____     _____     _____

    1              3              6              5

_____     _____     _____     _____

    7              5              4              2

A. 8

B. Ø

C. 0

E. -1

G. -5

H. 7

I. -8

J. 10

K. 3

L. 2

N. -3

R.   -2

S.   12

T.   -10

U.   4
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